WF | kg/h
W | kg/h
S
h
W
d
Hh kcal/kg
HI kcal/kg *
m
1kg Ao Nm*/kg o
1kg Go Nm*/kg *x
1kg Gwet Nm*/kg Gwet=Go+ m-1 Ao
Gdry | Nm'/kg Gdry=Gwet- 11.2h+1.244w /100
G Nm*/h G=Gwetx Wf
Gx 1- % /100
G Nm®/h G =Gwetx WF
G x 1- % /100
Ho
d
A = %xdz =0.785 x d’(
A
T oK T=t( )+273
* 1

HI=Hh-600 9x h+w /100 Kcal/kg

H2

CHa4

HI=Hh-480 H2+2x CH4+3x CoHet2x CoHat+4x C3Hs+5% CsHio /100{Kcal/Nm3}

** 2 Go Ao
Go Ao

??)%Hol +1.65 {Nm®kg} 11'0010'?)' +05 {Nm 3/kg}

%10';' Nm®/kg 01?)50H0| +2.0 Nm®/kg

0'725H'+1.0 {Nm*/Nm®} 0.875H| {Nm*/Nm?%}
(HI=500 3,000Kcal/m3 1,000 1,000

L1HL 025 (NmPNM?) LOHI 25 {NmP/Nm?)
(H1=4,000 7,000Kcal/m3 1,000 1,000
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m/s

G 288
Q= x
3,600 273

m/s

V:gx T

A 288

Hm

0795 Q V

1+ 2.58

Hm

Hm=0

Ht

Ht=2.01x10 *xQx T 288 x 2.3|09J+% 1

J=—= 1,460 296><L +1
T 288

ﬂp
<

He

He =Ho+0.65 HmMm + Ht

Nm*/h

q=Kx10 *xHe?

qc

Nm*/h

gc = 224 X x Wi = 0.007sx Wf
32 100

qc

Nm*/h

_224 S W =0.007sx WF
32 100

qc

Nm*/h

qc

(Y

g/Nm®

ppm

mg/Nm?




